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5 "g’f JE % Instructions to Contestants

—

10.

11.

R SUE AN ’}%—‘ﬁ &R R Ak oo
You should place your Admission Form on your desk for the whole session.
W FHRE M A T T RTF LA 2 R IRP LY -
During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.
AIE P ILEEANEF S FAEAS AP TS RED -
Contestants should finish all questions in this 45-minutes written test.
BERATEBREROE S FRFEEL SR R RS
Write your name, admission number, seat number and school name on the front cover of your answer
sheet.
FREVFRIARY X REZ T M
You can only use the rough work sheet provided by the organizer.
3@%:‘51?«;?#%6 #FE o
The use of calculators is NOT allowed.
FRPERER A EREZFIALT TR A =L o %‘?'ﬁ‘ FEREHIE
Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.
T¥pE, BRENE R385 0 3 9999 2. B el dicdk 1 0 )3t 1000 0% F35254 10, % 5
T o
Each answer must be given as an integer between 0 and 9999. In case of an answer less than 1000,
leading zeros should be included to make up four digits.

I‘%#ﬁ%nrﬂi;ﬁ:ﬂ ) z/ja%—“‘ﬁ*‘v?juﬁﬂ KR TRV IS MRS GV S

Under normal circumstances, contestants are not allowed to leave the contest venue before the end of this
session.

SRS SN R IGETE SN S

Any contestant who violates the rules and regulations of the competition might risk disqualification.
SREFAHV FEASNBEP F I EPANSLZ FFH ARG A FRERARB 2 T
*g:}%””’ Bl 2 —")&Imo_‘gl“?-gv «FL%m”‘TFﬁ»"LJ\’fg

If you have any queries, you should contact the officer-in-charge immediately after the competition. Late

queries will not be entertained. The decision of the organizing committee will be final.
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Time Allowed:45 minutes Total marks: 100

1. #3104A5046 ¥ F P4 3 % 87:‘;{% » KA e o (3 ~)
Find the value of 4 if 3104A50A46 is divisible by 3 and 8. (3 marks)

2. *%a ",/Tf 6 PE o AR A S ED % 8 pE o AR¥E 2o Fda+3b "$ 24 PE o ATE chkp
e (4 %)
When a is divided by 6, the remainder is 5. When b is divided by 8, the remainder is 2. If 4a + 3b
is divided by 24, find the remainder. (4 marks)

sy Ix2x4+42x4x8+3x6x12+...+506x1012x2024 (5 &)
T 1x3x94+2x6x18+3x9%x 27 +...+506x1518 x 4554

Ix2x4+2x4x8+3x6x12+...+506x%x1012 x 2024
1x3x9+2x6x18+3x9x27 +...+506x1518 x 4554

(5 marks)

Evaluate

TR AT BERERER -2 Bipid B2 B R L 100 5 o B4R S BRA g
P RCER LB T 16 BRBET Y- o H RS w Y BR o R T E
(k) 4 ~)
The following figure shows a network of roads connecting 17 dots. The distance between 2
connected dots is 100 m. Tom takes the shortest path to travel from the white dot, visiting all the
16 black dots at least one time and finally returns to the white dot. Find the total length of his

path (in m). (4 marks)
oo ®
[
® O
I 100m 100 ¥
Oo—e @

RHRE - HOgaRy dleF o 1,1,235813,____34,55 3 ~)
Find the missing number in the pattern. 1,1,2,3,5,8,13, ,34, 55 (3 marks)
g+£+£+...+i+i ERIE o (4 ~)

3 15 35 323 399
Find the value of 2+£+£+...+i+i. (4 marks)
3 15 35 323 399

TR AP B2 BT ALERAR e s 2 i E PR3 SR g RH T w KenpE
LR P RES DR R (7o BRI IR LE [ ES AT (5A)
Paul made a round trip between 4 and B. He walked at a speed of 3 kilometers per hour going
there and 5 kilometers per hour coming back. What was his average speed for the whole journey
in kilometers per hour? (5 marks)
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10.

11.

12.

13.
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-ﬁ5m”¢.7ﬁ%ﬁ%%w 4 ~)
Find the remainder when 52°% is divided by 7. (4 marks)

TRY o w i, ABCD 5§t £ R AC ¥ BD 4p 23t O » @ v /AABD & # €_12 em® » ABCD
5 4 £_18cm? > F AO=4cm > £ OC ehk & - (6 4)

In the following figure, in the quadrilateral ABCD, the diagonals AC and BD intersect at point O.
It is given that the area of A\ABD is 12 cm? and the area of ABCD is 18 cm?. If 4O = 4, find the

length of OC. (6 marks)

B

TNl AT BRABASGHE T A 101 A 093 A {097 £ o BABiEBEL
ARAgARR ) e RE ESA G T ARG 0 U RE SRS T v VA2
BT B A R Al gl > FRAE T R iE A BB S04 0 (5 4)

The four tour groups A, B, C and D had 77, 101, 93 and 97 tourists respectively. It is now necessary
to divide each group into groups of the same number, so that the number of people in each group

is as large as possible for the tour by car. It is known that the number of people left after the

grouping of the three tour groups A, B and C are the same, how many people are left after the

grouping of tour group D? (5 marks)

A2 BT 1000 3 2025 s pE 0 2B M5B T2, 9 (7 %)

When the numbers from 1000 to 2025 are written on the blackboard, how many “2” are written?
(7 marks)

B9:150 4B b pFEAo s £ 7 s & § x° > K 10x chiE o 5 #)

At 9:15, the obtuse angle between the hour hand and the minute hand is x°. Find the value of 10x.
(5 marks)

hok DR A e b SRS AE 2390 R a ek 6 )

e : . b
If positive integers a and b satisfy the equation $=39,

find the greatest possible value of a. (6 marks)
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20.
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B o 6 A)

If we subtract positive integers a and b from the numerator and denominator of fraction

respectively, the result is% . Find the minimum value of a+b . (6 marks)
PP A RPN fF s 50 A i o (5 4)
From the number pattern in the table, find the value of A. (5 marks)
3 13 11 A
9 7 17 15

BFRISBE > AT ~eaFiBA v > P FIL g 2/9 3k s Z45hy 251
ATt 3/16 A3k His 45y T s AFIAPlaMFRE G 0B (5 4)
There are 95 oranges in class A and class B. 2/9 oranges in class A are rotten and others are fresh,

while 3/16 oranges in class B are rotten and others are fresh, how many fresh oranges are in class
A and class B? (5 marks)

#1357 ex7 e =8( 73 &= £ h) Rigte =2 oo 6 ~)
Find the sum of all 4-digit numbers(all digits are not repeated) formed by 1, 3, 5 and 7.

(6 marks)
o OB KT 35% SRk pE o BE 1890 5. 5 KT 60% Sk pE o B E 3140 5L oo iR
BRI IE SR (4 ~)
A bucket weighs 1890 grams when it is 35% full of water. It weighs 3140 grams when it is 60%
full. How much does the empty bucket weigh in grams? (4 marks)

., a 1 b=2?
4% a+b=111m£’6=§ ’7Kﬁ«“ax - (747\)
a 1

If a+b=111 and B=E,then axb="? (7 marks)
20252025%2025-20242024x2024 g 4 =k - (6 ~)
Find the first 4 digits of 20252025%2025-20242024%2024. (6 marks)

4558 END OF PAPER
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